JMPI(Ra,Lit,Rc) POUR ULGO02

SMAR <- Ra

A <- SRAM

B <- Lit

DMAR <- A+B
DMAR <- DRAM
SMAR <- Rc

SRAM <- PC

A <- DRAM

B <- A+A; Latch CC
PC <- A (8SVC=1)
PC <- A (SVC=0)
DMAR <- PC; PC+
INSTREG <- DRAM
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JMPI(Ra,Lit,Rc) POUR ULGO03 (MODE UTI-
LISATEUR, IRQ=0 ET PC31=0)

SMAR <- Ra
A <- SRAM
B <- Lit

A <- A+B

W N = O
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B <- UDVP
OFF <- A
UDVP <- A

B <- A /XOR B
RMAR <- (-1)

A <- ROM

A <- A OR B; Latch CC

A <- (-1)

RMAR <- A-1
SMAR <- ROM

SRAM <- PC
A <- A-1

RMAR <- A-1
PC <- ROM; SVR

SPP <- PC

OFF <- PC; PC+

INSTREG

A <- DRAM
B <- UCVP
SMAR <- Rc
SRAM <- PC
OFF <- A
UCVP <- A
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PC <-

B <-
RMAR
A <-
A <-
A <-
RMAR
SMAR
SRAM
A <-
A <-
RMAR

PC <-

A
A /XOR B
<- (-1)
ROM
A OR B
(-1)
<- A-1
<- ROM
<- PC
A-1
A-1
<- A-1
ROM; SVR

OFF <- PC; PC+
INSTREG <- DRAM
OFF <- PC; PC+
INSTREG <- DRAM



